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Home Science

Paper II

UEREELE!
gyueRt 11

Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U7 STRd. T WYY Wi

TOAT @ A1 TRAUCThG THY TR (100) TgEE WEA fool ofed. Yo TRe & (2)

The primary characteristics of direct

supervision :

(A) Feedback sessions

(B) Close and
monitoring

(C) Remote oversight

(D) Interaction between supervisor
and employee

What is the role of 3R’s in resource

conservation ?

(A) Increase resource consumption

(B) Minimize waste generation

(C) Accelerate resource depletion

(D) Promote excessive resource
extraction

One kind of fabric-based window

covering that can be pleated or

collected to regulate light and

privacy :

(A) Blinds

(B) Shutters

(C) Curtains

(D) Cornices

Which approach to demand

forecasting is commonly used in

manpower planning in India ?

(A) Trend analysis

(B) Delphi method

(C) Markov analysis

(D) Random sampling

continuous

(B) SO 9 Had <@

(C) gr& e

(D) wHoerF AT FHAN HaAR
qHEe gadaa 3R = gy wE
Iqd ?

(A) FEEETET AT e

(B) wHld el = fAfdd

(C) FEHH SZUFEIS T <0l

(D) AAIfeer THEH U YiedeT
fEresh] SHvaE T FhR S QH=I:

RITSTUTHA acidll THdl GRI19T_ o
Wﬂé@%wﬁamﬁé@mﬁ
Al HBUldld

(A) T&&n

(B) I

(C) T=]

(D) wHifHa"

ATTUiT=aT  STRTSITETS! hivfdl gfteeptd
A RN Hsee s
ARl STl ?

(A) J5 fageimm

(B) ST wHd

(C) Hrehleg ToTeToO

(D) Agfessh T

[P.T.O.



Major cultural Dbarrier to

entrepreneurship in some societies :

(A) Emphasis on individual
achievement

(B) High tolerance for risk

(C) Acceptance of failure

(D) Stigma associated with failure

In India National Energy

Conservation Day is celebrated on

.................. every year.

(A) 14th April

(B) 14th June

(C) 14th December

(D) 14th May

Except this all comes under

classification of efforts used in home

making activities :

(A) Mental efforts

(B) Pedal efforts

(C) Restless efforts

(D) Forsal efforts

Which element of art refers to the

use of single colour scheme based

on three colours evenly spaced on

the colour wheel ?

(A) Monochromatic

(B) Analogous

(C) Triadic

(D) Complementary

APR - 17224/T1—C
el TS, SESTehddie] T R (e

oo

(A) SEfdes HMMTET WL

(B) SEHEE 359 HeAvierd

(C) TIFRTET HHR
(D) 39T Hefdd el
TRAAE TRE o gadq fgq gt

WS el S
(A) 14 Ty

B) 14 S

(C) 14 fedeR

D) 14 ¥

YT R STTRd.

(A) HHfE®R q3H

(B) 9=9a™

(C) 3&a¥ 7™

(D) faferein w=md

TTIhIeR AN SER STHeedl 1 TTeR
AR THTTE FISH el hivel T2k
geifad ?

(A) THTH

(B) freArTH

(C) grafes

D) g




10.

11.

12.

In consumer protection term “Unfair

trade’ refers to ......ccccueeeee..

(A) Dishonest or deceptive trade
practices

(B) Ethical business conduct

(C) Legal advertisement

(D) Competitive pricing

A key characteristic of successful

entrepreneurs is .....................

(A) Resistance to change

(B) Risk aversion

(C) Procrastination

(D) Risk taking propensity

What is the primary purpose of

conducting user research in the

product design process ?

(A) To increase production
efficiency
(B) To validate assumptions and

gather insights
(®)
(D)

To reduce marketing expenses
To speed up the development
timeline

Which element of art is concerned
with the arrangement of visual
elements to create stability in an
artwork ?

(A) Contrast

(B) Balance

(C) Movement

(D) Emphasis

10.

11.

12.

APR - 17224/T1—C

............

(A) 9o fopell YTHeh =AMIR TS
(B) Hfqer =@ eT=r

(C) HERI Sfedd

(D) g fohma

T3] ISR HevaTa afyreew
BN

(A) IEAHE!

(B) ==l fdesm

(C) dreEshal

(D) ®eT =UEEl Wl

Icured fegmsa gfwda aratEatay
e STfea SHeoar WU 329
EJR I

(A) SCUGATE HIETHAT aTe]

(B) TEIdeh FHEIOTG IO ST Sfagset
STHT Y00

(C) fauum @ = o

(D) fowrmrE=R Tt aredu

FHeTdl IVl Tk Hohade e

i FvaEE S uedEl e
Fr ?

(A) fatenyms

(B) Tqer

(C) it

D) 99E
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13.

14.

15.

16.

What is the primary function of an
“Ottoman” in furnishing ?

(A) Lighting

(B) Transport

(C) Storage

(D) Seating arrangement

In India, Consumer Protection Act
was implemented on :

(A) 24th December, 1986

(B) 17th June, 1982

(C) 24th December, 1984

(D) 17th May, 1982

Family environments affect siblings

differently, which is known as ........

(A) Shared environmental
influences

(B) Non-shared environmental
influences

(C) Family environmental
influences

(D) Filial influences

According to which theory, humans
are driven by inborn instincts of which
they are largely unconscious ?

(A) Psychoanalytical theory

(B) Psychosocial theory

(C) Cognitive development theory
(D) Learning theory

13.

14.

15.

16.
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‘efeima 'R wiHfTTTES wrufie @
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(A) YRR

(B) aTEqH

(C) Hd=

(D) AT FTEQ

........................

ST SATITET.

(A) 24 fedar, 1986
(B) 17 S, 1982
(C) 24 fedsr, 1984
(D) 17 ¥, 1982

HIE o ATAERTE WEASTER eI

(C) whiZfaes ATeRom=T Fure

(D) fRicTEd g9mE
FIUCAT TASIAIER, 995 S

IO AT Sl S § T

SYG A ?

~

(A) e ENGERIf= B2

PG

(B) TEETHISTER

ESFAL!

(C) TareRss fasrma fagmE

(D) foremor fagm




17.

18.

19.

20.

An Indian Philosopher who
proposed Naturalistic Philosophy of
education is :

(A) Gandhiji

(B) Tarabai Modak

(C) Rabindranath Tagore

(D) Gijubhai Badheka

Adolescence is a ..o between
childhood and adulthood that takes place
in a particular cultural environment.
(A) Critical period

(B) Stagnation period

(C) Developmental period

(D) Transitional period
.................. during the birth process
leads to cerebral palsy.

(A) Anoxia

(B) Anorexia

(C) Teratogens

(D) Maternal anxiety

The ............... has laid down the rights
of the child for
development of children.
(A) WHO

(B) U.N. Declaration
(C) UNICEF

(D) Ministry of Women and Child

Development

all-round

17.

18.

19.

20.
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IR qoar e e S
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(A) TETsh

(B) AN HiSH

(C) =Y 2FR

(D) firgsng =
GrTETEe Ul aredu STt Y A
................ % fafere gepfas ammeRom

I HTATIT
Tegar weaet
fom ST

TSR HUIRT SRt

g e

~

ql

ST Boh TR
(A) WHO

(B) UN =reon

(C) UNICEF

(D) Hfgen amfor o fae/ Tee™
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22.

23.

24.

.................. includes a broad range of

behaviours, from socially

unacceptable behaviour to criminal

offences by children.

(A) Emotional disorder

(B) Conduct disorder

(C) Truancy

(D) Juvenile delinquency

.................... is a family type where

the couple focus on their careers and

choose not to expand their family.

(A) Migrant family

(B) Re-constituted family

(C) Double No
(DINKS)

(D) Extended family

Selection of life goals and personal

Income Kids

life investments are linked to ............
(A) Successful aging

(B) Marriage

(C) Planned parenthood

(D) Community services

A disagreement through which the
couples involved perceive a threat to
their needs, interests or concern is :
(A) Dating violence

(B) Wife battering

(C) Domestic violence

(D) Marital disharmony

21.

22.

23.

24.
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T STehg s ST SR g TR
TEATER TR T S = forgd
guft § gfaa = .

(A) HEe fohR

(B) =Rl foepr

(C) e

(D) ==

"""""""" T TF PIEfow THR ST S

STy M= HiSHAT T8 hisd i

o W H2d dedd ARl

(A) TR FHed

(B) TRfaa Hd

(C) T IcUA @I TUA [l ARl
(DINKS)

(D) fowaiia Hea

STier Sfeser= fere anfor Saferter Sier

e off T s

(A) TeE g

(B) =™

(C) Trifea retenc

(D) THE™ ¥

T Ha¥E IgR SIS &= TR,
AR fRan fecen g aed @ T
A) =& fEm

(B) <I&ehie HRO!

(C) =gt fea

(D) dafesh foered




26.

27.

28.

is a policy of family

welfare.

(A) Sarva Shiksha Abhiyan

(B) Family Planning

(C) NEP-2020

(D) National Skill Development
Program

Marriage entails both the spouses to

personally and psychologically

adjust to .......cecuvee.e. styles of life that

marriage implies.

(A) Interdependent

(B) Independent

(C) Dependent

(D) Autonomous

................... parents value strict

unquestioning obedience from their

children.

(A) Authoratative

(B) Indifferent

(C) Authoritarian

(D) Neglectful

................ can be described as

disruption in the structure and

functions of the family unit during

a crisis.

(A) Family disorientation

(B) Family disruption

(C) Family sustainance

(D) Family disorganization

26.

27.

28.
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(B) hgdl frirsr

(C) TAEYI-2020

(D) T FRey fawm wefwEn
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(B) 3ud

(C) emaded

(D) @
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TR e HElHhed Ho

fAfelame STRTeRehde Hew adld.
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(B) =g
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30.

31.

.............. looks at how each person’s

behaviour affects the entire system

and works to develop solutions for

all members of the family unit.

(A) Couples therapy

(B) Structural family therapy

(C) System therapy

(D) Conjoint family therapy

................... is a psycho-social

intervention to reduce symptoms of

various mental health conditions,

primarily depression and anxiety

disorders.

(A) Cognitive behavioural therapy

(B) Rational emotive behavioural
therapy

(C) Person centered therapy

(D) Transactional analysis

The five key elements of .............

self-awareness, self-regulation,

motivation, empathy and social

skills.

(A) Spiritual Intelligence

(B) Social Intelligence

(C) Emotional Intelligence

(D) Kinesthetic Intelligence

30.

31.
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Jieh SHIEAl adAral Wl
FUITEATeR 4 qfomy Bl & redl S
FIAMA He TS U TorenfEa
FITIEES e Ll

(A) Sre=r=t oxdt

(B) =F=Ral hidelt 9y

(C) foem oWl

(D) T higfask &t

..............

(A) HFHIHS FaoE O

(B) Teh3E wEfTeh aqueh AXdr
(C) =oerit whfgd Al
(D) SHIERITIR

2 U YT HH  TEUTS

E-STEehd], TEfaHT, YT, HEl
afor grETfSts v

(A) smeaTienss SfgH

(B) wrHTfSieR SfgH

(C) e SfgHm
(D) fRTdfesn gfersru
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32, e, is defined as developinga | 32. 7T = AT SISuiEl e,
sense of connection, belonging and SAIeen AT = fasfga dweH
a well-developed support system. yoett faeRfad X0 ot el .
(A) Intellectual wellness (A) difgew Feam
(B) Spiritual wellness (B) aeATfcHsh IR
(C) Physical wellness (C) T A=
(D) Social wellness (D) HHISR  shero
33. The following is the correct principle | 33. @WTelelueh! S0 =R far feeom
of extension education : qa e ?
(A) Honesty (A) GrHEIOTERTOT
(B) Cultural difference (B) wiehfaess faferem
(C) Control (C) frm
(D) Teaching (D) ferao
34. Extension Education term was first | 34. foawar fereror € = ufgesiey et
used in .....cccooevereernennn, STOLUATd 3Tl
(A) 1873 (A) 1873
(B) 1866 (B) 1866
(C) 1865 (C) 1865
(D) 1870 (D) 1870
35. Which of the following is an | g5 eI EEIRG! $<:1°r§7|"'-|°h ey og 7
electronic media ? (A) SRTAT
(A) Newspaper
(B) Magazines (B) aiew
(C) Radio (C) =reh
(D) Folder O)IREILIEED
11 [P.T.O.



36. Evaluation is

37.

38.

39.

(A)
(B)
(C)

(D)

To assess the progress

Best method of approach
Step involved in conducting the
demonstration

Part of plan of work

Full from of DWCRA :

(A)

(B)

(C)

(D)

Development of Women and
Communication in Rural Area
Development of Women and
Children in Rural Area

Demand of Work and
Communication in Rural Area
Direction of Work and

Communication in Rural Area

Communication is the process by

which messages are transferred from

source to

(A)
(B)
()
(D)

Communication has

Channel
Message

Receiver
Effects

functions.

(A)
(B)
(&)
(D)

2
3
5
4

37.

38.

39.
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(A) W quUrgl
(B) wrefawar=i =anel 954

(&)
(D)

TR0 AT 0= =

FE ESEET 9

DWCRA = I0f €9 § TR :

(A)

(B)

(&)

(D)

Development of Women and
Communication in Rural Area
Development of Women and
Children in Rural Area
of Work
Communication in Rural Area
of Work

Demand and

Direction and

Communication in Rural Area

U ¥ TH SN wimar &R W,

S F¥ WA

................

wq

Frefael SIdm.

(A)

ey

(B) gew
(C) wT=Tehal

(D)

qRomH

12
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40. According to ................... , the model | 40, = qioq@wa\ GOSN EIRE Rl
of communication consists of Source, e, aiRfaETHET, T3y, HeAy,
Encoder, Message, Channel, FTTeh iR [em T, ATeTehall 2ATe FHTaST Bl
Decoder, Receiver. .

(A) Aristotle @) e
(B) Berlo (B) e
(C) Schramm €) =™
(D) Rogers (D) TS

41, attracts audience and | 41. "YU T TR TSRS h¥ara o
arouses their interest. Aae A Ham.
(A) Motion picture (A) =efa=
(B) Newspaper (B) s|qHTH
(C) Books (C) g&h
(D) Leaflet D) 95

42. The folk media consists of a ................. 42, TATReheIHE BIEIREICR
(A) Newspaper el
(B) Radio (&) TN

(B) s
(C) Television (C) @wgﬁ
(D) Puppetry (D) FHLA Sge
43. Democratic decentralization is | 43 wwemEE fagemao DI
related to : Heferd TR,
(A) District (A) Toremr
(B) Community (B) 9EHE
(C) Panchayati Raj (C) TETEaTS
(D) National (D) T
13 [P.T.O.



44. Improving housing and family living

45.

46.

47.

conditions is objective of

(A) Community Development
Programme

(B) Community Organization
Programme

(C) Community Programme

(D) Community College
Programme

The following is the step of
community development process :
(A) Facilities

(B) Development

(C) Identification of the need

(D) Project
....................... is a method used in the
teaching of Home Science.

(A) Demonstration

(B) Seminar

(C) Meeting

(D) Models

.................. means to educate a person
so as to be proficient in doing some
job.

(A) Development

(B) Training

(C) Teaching

(D) Talking

44.

45.

46.

47.
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RO SE1a0! § e Siaar Sere)

(A) ™ fomm wEEd

(B) TR WEEA HIHHA

(C) TR hTdehA

(D) T HEldemed FRi%T

Eeid o Tere e e S ?
(A) gfaen

(B) foremr®

(C) TS T

(D) ey

M HLOAEES] HITA dAfdel S
(A) foerma

(B) wfzerm

(C) ferenfam

(D) et
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48. Full form of KVK : 48. KVK = Yo &Y :
(A) Krishi Vishesh Kendra (A) Krishi Vishesh Kendra
(B) Krishi Vigyan Kendra (B) Krishi Vigyan Kendra
(C) Krishi Vocational Kendra (C) Krishi Vocational Kendra
(D) Krishi Vyam Kendra (D) Krishi Vyam Kendra
49. Which of the following type of | 49. WIileliehl v fRIeomae ToheaM
education has homogenous learner ? fThTSs ST\ ?
(A) Extension Education (A) fowam ferem
(B) Informal Education (B) fodiro=nfian e
(C) Formal Education (C) air=nies fererm
(D) Non-formal Education (D) o= fRrago
50. Feedback information from | 50. sifygr #Arfed! HAefAeaiwed a3
subordinates to superior flows GRS HIAEI
through : (A) e
(A) Upward Communication )
(B) Downward Communication (B) SR A W
(C) Horizontal Communication (C) afast wom
(D) Vertical Communication (D) A T
51. Which of the following is a Non- | 51, wEwcliciE HOE - REEF =0T T8 2
parametric Test ? A) T= (5=
(A) T-test B) w1 e S
(B) Chi-square test
(C) F-test (©) Few
(D) Z-test (D) Z-2=
15 [P.T.O.



52.

53.

54.

55.

Two variables are said to be

correlated if :

(A) The change in one variable
results in a corresponding
change in other variable

(B) The change of the variables is
in the opposite directions
(C) The two variables are similar in
nature
(D) The two variables are dissimilar
in nature
..................... method is a very
popular form of qualitative analysis
and involves a careful and complete
observation of a social unit, an
institution, a cultural group or even
the entire community.

(A) Experiment

(B) Interview

(C) Case study

(D) Surveys

................... is the difference between

the values of the extreme items of

the series.

(A) Mean

(B) Range

(C) S.D.

(D) Mode

flexibility.

(A) Unstructured interviews

are characterised by

(B) Structured interviews
(C) Focused interviews
(D) Directive interviews

52.

53.

54.

55.
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S =9 ST HeEedd ST el S :

(A) Tl A SIger= UomH EGR

TAH I Gefed searded gl

(B) ==l Wed faeg fesm dm

(C) = 9@ AHdld

(D) TF =« e =1 eraam

...............

OISR Usheh HEAT, Fihiae T fohan
ST WYY IS Hlesigees 3T
qquf e g TR,

(A) 9=

(B) Herred

(C) &8 el

(D) Teeerm

.................

~ .

B Alfciehdiel Tcid o=
eamYd Wieh ST
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B) gt (F)
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SIS

(A) FEEa gared]

(B) Tfad gamer

(C) =hifsd Hemerdl
(D) TesTeRer Hamerd
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57.

58.

59.

60.

................... is defined as the selection
of some part of an aggregate or
totality on the basis of which a
judgement or inference about the
aggregate or totality is made.

(A) Randomization

(B) Coding

(C) Sampling

(D) Analyzing

................... means rejection of
hypothesis which should have been
accepted.

(A) Alternative Hypothesis

(B) Null Hypothesis

(C) Type-Il error

(D) Type-I error

The type of research in which the
investigators attempt to trace an
effect which has already occurred to
its probable causes is called
(A) Exploratory research
(B) Experimental research
(C) Action research

(D) Ex-post facto research
SPSS is a tool used for :
(A) Data publishing

(B) Bibliography

(C) Statistical analysis of data
(D) Report writing

Strategy for addressing research
issues in partnership with local
people :

(A) Action research

(B) Pure research

(C) Applied research

(D) Evaluation research
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60.
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(D) BT TEH

TN TlehT=n ARG EEeH T
ERIETO i UL ceirs) o a1
(A) Fdl GEmEA
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61. BHT stands for ........ccc.......... 61. BHT =1 &g
(A) Butylated hydroxytoluene (A) Hiee al$<§\lwﬂldlq¢1\l{d
(B) Butylated hydroxyterphthalate (B) #2ltice TES I h e
(C) Binary hydroxytoluene (C) wmEl E’Iﬂ@ﬁ@?ﬁ
(D) Butyl hydroxyterphthalate (D) W RREE S ERL G

62. A compound responsible for the | 62. ¥WHET FHUHEL M TI=aT TUHd

browning reactions in apple when it SR, ST feRamrar LR

is cut and exposed to air : SEIE I | 3

(A) Melanin (A) el

(B) Orthoquinone (B) aTerifeeAr

(C) DOPA (C) DOPA

(D) Polyphenol oxidase (D) dleliftpdla siferiTSst

63. SAM is required for ........ reaction. | 63. TTTTTC frarardt SAM 3Tava®

TS

(A) Deamination
(A) SIHEATH

(B) Oxidation .
(B) affriTesH

(C) Decarboxylation (C) SFERERA

(D) Methylation IDREPRENE
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64. Deficiency of essential fatty acid | 64. TE¥IeH fETYmFA=A FHNAHS "
CAUSES .oovvernrereeererenennnas Bd.
(A) Beriberi (A) =l
(B) Pellegra (B) Tern
(C) Phrynoderma (C) WhAreH
(D) Cheilosis (D) T
65. Ascorbic acid is essential for : 65. 3TERITaTH Fd il SAETIH
(A) Collagen synthesis M
, (A) =rers fAfHd
(B) Cholesterol synthesis (B) et ffd
(C) DNA synthesis ©) ST ffRd
(D) Purine synthesis (D) == fafHd
66. Enzyme that maintain the | g6. wigm Tfhei=iay q& BN TEEH
homeostasis of iron is .........cceee. | e TR,
(A) Iron chaperone (A) 3EH SwE
(B) Hepcidine (B) @ufdfed
(C) Ferroprotein (C) B
(D) Ferritin (D) ®LeH
67. Which of the following is an | 67. WEl@Y®! HITK ACRALT T AR
international food standards ? ;e ?
(A) ISI standards (A) ISI A«
(B) AGMARK standards (B) AGMARK Heh
(C) CODEX alimentarius (C) CODEX alimentarius
(D) PFA standards (D) PFA ¥
68. Pigment present in Beetroot | 68. AT SIS Tgeg
belongs to ........ccccceuunnnnns © I
(A) Flavonols (A) FARH
(B) Flavones (B) Teiad
(C) Xanthones (C) =<
(D) Anthocyanins (D) 3T
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69.

70.

71.

72.

73.

Vitamin which regulate blood
clotting is .....ccccvvvvvvveeeeennn.

(A) Vitamin-A

(B) Vitamin-C

(C) Vitamin-K

(D) Niacin

BMR is increased in all the following
condition except ........cccvvrnnnns

(A) Fever

(B) Pregnancy

(C) Starvation

(D) Cold climate

Bile is produced by ..................

(A) Stomach

(B) Small intestine

(C) Liver

(D) Pancreas

Refeeding syndrome causes
dangerous fluctuations in :

(A) Electrolytes

(B) Liver enzymes

(C) Triglycerides

(D) Ketone bodies

Buffet service is a type of .............
(A) Table service

(B) Waiter service

(C) Self service

(D) Single point service

70.
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..............

Y L=
YlehlqHeh de3dX gIdld.

(A) SeRIETEZH
(B) Tl TSIz

(C) TAfeEUgSY
(D) Theq sE

(D) o dize afsy
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74. The principal cation in extracellular | 74. Tesl SN U@ Hesqfq =
rIREVTG T L.
(A) Sodium (A) ErEEm
(B) Chloride (B) FRES
(C) Potassium (C) wrefirm
(D) Phosphorus (D) HITRH
75. The largest component of energy | 75. sl @Hi=l Fdid WGl ®eHh UM
expenditure is ......coocoeeeeee... | T
(A) Basal metabolism (A) HAYd =A9=H
(B) Physical activity (B) vk fea
(C) Thermic effect of food (C) == affes g9
(D) Body mass index (D) St A9 29
76. Cretinism is caused by a deficiency | g ferifrgre » o = FHEAHS Bl
[0) TR A) @
(A) Iron )
(B) Zinc ®) T
(C) Iodine (C) #ArEH
(D) Selenium (D) Hefifm
77. This is used to find out the dietary | 77. @& faHan FGISTHT TR KICIE
pattern of people residing in hostels 3T SRR 9gd SNevI™Ee =0
or old age homes : AT Hedl STl
(A) Food inventory method (A) 37 I U=d
(B) Food diary (B) 3= =
(C) Diet history method (C) 3R 3faerm Tgd
(D) 24-hour recall method (D) 24— ftea gd
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79.

80.

81.

............ enzyme plays an important
role in production of cheese.

(A) Liapase

(B) Rennin

(C) Amylase

(D) Invertase

The weave used in Turkish towel is :
(A) Bedford cord

(B) Cut pile

(C) Uncut pile

(D) Twill

Which of the following is a
regenerated cellulosic fiber ?

(A) Viscose Rayon

(B) Acetate Rayon

(C) Acrylic

(D) Polypropelene

A weave having long floats and
lustrous appearance is .................
weave.

(A) Twill

(B) Plain

(C) Mock leno

(D) Satin

78.

79.

80.

81.
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(A) fora

q Segas g
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82.

83.

An effective ecofriendly bleach for
textile fabrics is :

(A) Sodium perborate

(B) Hydrogen peroxide

(C) Sodium hypochlorite

(D) Chlorine bleach

Dyeing of textiles at the fiber stage

1s :

82.

83.
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FIISHES! TaeoTqie faism
(A) HrEs™ TERE

(B) BEIGNT THIEES

(C) dreis™ TEYFeINEe

(D) = faisH
B U5d T TR ST SATOT]

S

(A) Piece dyeing (A) g EEm
(B) Stock dyeing (B) Ei# TR
(C) Top dyeing (C) 29 BEM
(D) Cross dyeing (D) HE SR
84. Which of the following is the | 84. wTeficTih! ST STYUCIT IRAF

traditional textile of Andhra FTE R 2
Pradesh ?

(A) =TTE
(A) Bagru
(B) Bagh (B) S
(C) Kantha (C) =hem
(D) Kalamkari (D) FHeH&IT

85. Standard conditions for testing | g5 gFmrer TEUEE yafig O -

textile materials are : (A) 95% RH =fo1 20°C
(A) 95% RH and 20°C

(B) 65% RH =1fur 30°C
(B) 65% RH and 30°C
(C) 65% RH and 20°C (C) 65% RH s 20°C
(D) 85% RH and 20°C (D) 85% RH a1 20°C
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86.

87.

88.

89.

Flax fibers are obtained from .............
of flax plant.

(A) Seeds

(B) Fruits

(C) Stem

(D) Leaves

Reusing a material to create a
product of higher quality is :

(A) Renovating

(B) Upcycling

(C) Repairing

(D) Trending

The “Pressure foot” of a sewing
machine has the following function :
(A) Holds the fabric in place for
sewing

(B)
©)

Holds the needle in place
Controls movement of spool
thread

(D) Regulates stitch length
Number of warp and weft yarns in
one inch square cloth
(A) Fabric weight
(B) Fibre count

(C) Yarn count

(D) Fabric count

86.

817.

88.

89.
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el T Feled SISl
LI GG

(A) Tem

(B) %

(C) @rs

(D) M

I=d TUTERe SeAed TR ShvHAMEIG]

Hifgcar = G O RN
(A) TR

(B) STTHTERIH

(C) & w3

D) =i

(A) TR FIUE SIPER Sdd

(B) ¥ SHER a4

o =

(C) = Treaeit BTeT=mal AT i

o ‘e ot

(420 ond

(D) oo <ei

Teh 9N 9 SHoied] 391 o ATee

.....................

HrarE & T
(A) FUS= oM
(B) dqe
(C) &ram=n HHeh

(D) FHUSTEN FHH
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90.

91.

92.

93.

In the context of clothing “Chinese”
is a type of ...................

(A) Collar

(B) Sleeve

(C) Shirt

(D) Placket
“Jigger” is used for

(A) Stock dyeing

(B) Beam dyeing

(C) Piece dyeing

(D) Solution dyeing

The ability of a textile material to
regain its shape and volume after
being compressed is known as :
(A) Elasticity

(B) Resiliency

(C) Pliability

(D) Cohesiveness

Dry cleaning requires the use of
................. to dissolve oily soils and
stains from fabrics.

(A) Detergents

(B) Bleaching agents

(C) Organic solvents

(D) Soaps

90.

91.

92.

93.
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94.

95.

96.

97.

Fabrics used for active sports wear
should have the following property :
(A) Lustre

(B) Waterproof

(C) Mildew resistance

(D) Absorbency

‘Leg-O-Mutton” is a type of :

(A) Sleeve

(B) Collar

(C) Cuff

(D) Skirt

A fabric used for conveyer belts
should have excellent :

(A) Abrasion resistance

(B) Breaking strength

(C) Air permeability

(D) Thermal property

In the context of building
construction in India, what does
NBC stand for ?

(A) National Building Consortium
(B) National Building Code

(C) New Building Construction
(D) Nationwide Building

Compliance

94.

95.

96.

97.
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................

AETTF: TR,

(D) ThHe

...............

3R

(A) =50 FfqeRR gTerdt
(B) sfET VY

(C) Bl grRI™Idm

(D) efftorek Tqorerd
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(B) e fafeen =i
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(D) AvrerEe fafeen =4
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98.

99.

The purpose of an energy audit in
the context of energy management
is to :

(A)
(B)

Increase energy consumption

Identify energy-efficient
technologies

(C) Promote non-sustainable
energy sources

(D) Assess and analysis energy use

What does the acronym HVAC stand

for in housing ?

(A) High Voltage Alternating

Current

(B) Hydraulic Valve Assembly

Control

(C) High Volume Architectural

Construction

(D) Heating, Ventilation and Air

Conditioning

100. Which factor is not typically

considered in the functional design
of a workplace ?

(A) Ergonomics

(B) Colour Scheme

(C) Workflow Optimization

(D) Space Utilization

98.

99.

100.

APR - 17224/T1—C
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(A) Torel G dedul

(B) SSl-E&T T 3Tl

(C) F-fepumt ot HAFT Sedr <o

(D) Zt=a T edieh Ao forgeryo

Exul

Tefmior 78 HVAC = Hfgw &9

AR ?

(A) THE RIS Teeldfen &ie

N

(B) TEEIfcieh alcd STdeelt shold

Py

(C) BM™ g Aol HtgRM

(D) @ifen, Rt i TR FHERIHT

FHH SRl hEfcHs A HLarl

clVldl Hcen HlIHId: I"OIt{I{ICI Qldcdl ST
R ?

(A) TS

(B) T A

(C) HETETEN HarHRI

(D) S =R
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ROUGH WORK
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